### BEFORE THE PUBLIC UTILITY COMMISSION

### **OF OREGON**

#### **UE 188**

In the Matter of	) ) REQUEST FOR PAYMENT OF ) THE CITIZENS' UTILITY BOARD
PORTLAND GENERAL ELECTRIC,	) OF OREGON
Request for a rate increase in the company's Oregon annual revenues of \$13,000,000 for Biglow Canyon.	) ) )

Pursuant to Section 7.3 of the Intervenor Funding Agreement (IFA), which was adopted in Order No. 03-388, the Citizens' Utility Board submits this final request for payment from the PGE Issue Fund of \$2,885 in eligible expenses in docket UE 188. CUB is automatically precertified under Section 5.3 of the IFA.

On April 4, 2007, CUB submitted a proposed budget of \$15,075, assuming a fully litigated case, including testimony, briefs, a hearing, and oral argument. On April 13, 2007, in Order No. 07-114, the Commission approved CUB's proposed budget.

Under Section 7.3 of the IFA, each request for payment from an Issue Fund Grant must:

- (1) Itemize the expenses, payees, and hourly rates of amount to be reimbursed;
- (2) Demonstrate that the expenses are reasonable and are directly attributable to issues and positions pursued on behalf of a particular customer class and consistent with the intervenor's proposed budget; and
- (3) Provide information sufficient to show that the intervenor has complied with any conditions imposed on the Issue Fund Grant.

Order No. 07-144 did not include any additional conditions beyond those anticipated in the IFA.

On July 27, 2007, CUB requested a partial payment of \$4,417. On August 8, 2007, in Order No. 07-339, the Commission approved that request. The combination of this final request for \$2,885 and the previous payment of \$4,417 would be \$7,302.

The expenses incurred are reasonable and directly attributable to the issues and positions CUB addressed in UE 188 on behalf of residential customers. In support of this assertion, we supply Attachment A, a summary of CUB's expenses in this case; Attachment B, an invoice of CUB's costs categorized by activity; and Attachment C, an invoice of CUB employee activity by individual. These documents should allow the Commission to track the time spent on the elements of the case, and we believe that this filing meets the requirements of the Commission.

This is CUB's final request for payment in UE 188, and any further budgeted amounts may be released to the PGE Issue Fund.

Respectfully submitted,

Jason Eisdorfer #92292

Attorney for Citizens' Utility Board of Oregon

ason Eisdorf

Enc. Attachments A, B, and C

cc. Randy Dahlgren

## **CUB Expense Summary - UE 188**

CUB Internal Expenses	<u>Rate</u>	<u>Hours</u>	<u>Cost</u>
Bob Jenks, Executive Director	\$115	7.10	\$816.50
Jason Eisdorfer, Attorney	\$150	7.74	\$1,161.00
Lowrey Brown, Utility Analyst	\$75	10.74	\$805.50
Shannon Floyd, Business and Projects Mgr	\$40	1.75	\$70.00
STAFF			\$2,853.00
Postage			\$17.46
Travel			\$15.00
OTHER EXPENSES			\$32.46

Total \$2,885

Note: Because the CUB invoices track time to 5 decimal points, while the Time by Employee Summary uses two decimal points, there is a small rounding error between Attachment B and Attachment C. CUB's practice is to bill the Issues Fund for the lower of the two amounts.





## Citizens' Utility Board of Oregon

# 610 SW Broadway, Ste 308 Portland, OR 97205

503-227-1984

Bill To

Portland General Electric UE 188 c/o Public Utility Commission 550 Capitol Street NE #215 Salem, OR 97301-2551

## **Invoice**

Date

4/1/2008

Item	Serviced	Description	Quantity	Rate	Amount
Settlement	7/11/2007	review brief, compare with stip	0.83333	150.00	125.00
Case Preparation	7/11/2007	reviewed PGE's rebuttal testimony	0.33333	115.00	38.33
Procedural Matters	7/16/2007	Signature Page	0.48333	75.00	36.25
Procedural Matters	7/17/2007	Stipulation Signature Page	0.18333	75.00	13.75
Procedural Matters	7/27/2007	Partial Payment Request.	1	40.00	40.00
Procedural Matters	7/30/2007	Affidavits	0.16667	75.00	12.50
Procedural Matters	7/31/2007	Affidavit & Motion	0.3	75.00	22.50
Briefing & Oral Argument	9/4/2007	review testimonies	0.83333	150.00	125.00
Briefing & Oral Argument	9/5/2007	Opening Brief	2.78333	75.00	208.75
Briefing & Oral Argument	9/5/2007	opening brief	0.65	115.00	74.75
Briefing & Oral Argument	9/6/2007	Opening Brief	0.35	75.00	26.25
Briefing & Oral Argument	9/6/2007	brief	5.11667	115.00	588.42
Briefing & Oral Argument	9/7/2007	Opening Brief	3.78333	75.00	283.75
Briefing & Oral Argument	9/7/2007	talking with Bob and Lowrey	0.25	150.00	37.50
Briefing & Oral Argument	9/9/2007	writing brief	2.33333	150.00	350.00
Briefing & Oral Argument	9/10/2007	writing edit brief	2.58333	150.00	387.50
Briefing & Oral Argument	9/11/2007	final edits to brief	0.91667	150.00	137.50
Briefing & Oral Argument	9/11/2007	brief	0.58333	115.00	67.08
Briefing & Oral Argument	10/4/2007	read company and ICNU reply brief	0.41667	115.00	47.92
Discovery	11/8/2007	Data Responses	0.3	75.00	22.50
Discovery	11/13/2007	Data Responses	0.2	75.00	15.00
Case Preparation	12/5/2007	Tax Rate Issue	0.7	75.00	52.50
Reimb Group	12/3/2007	Tun Tutte 15500	0.7	75.00	32.30
Tremie Group	7/13/2007	05/31/07 PUC - UE 188 Settlement Conference		15.00	15.00
	9/17/2007	UE 188 Reply Brief postage		7.54	7.54
	9/17/2007	postage for UE 188 Opening Brief		9.92	9.92
	7/1//2007	Total Reimbursable Expenses		7.72	32.46
Procedural Matters	4/1/2008	Final payment request	0.75	40.00	30.00
Procedural Matters	4/1/2008	Intervenor Funding Payment Request	1.5	75.00	112.50
	<u> </u>	Total		\$2,887.71	

# Citizens' Utility Board of Oregon UE 188 Time by Job Detail

January through December 2007

January unrough December 2007				
	Date	Name	Duration	Notes
Bob Issue Work:				
Briefing & Oral Argument				
	09/05/2007 Rd	bert T. Jenks	0.65 open	ing brief
	09/06/2007 Rd	bert T. Jenks	5.12 brief	
	09/11/2007 Rd	bert T. Jenks	0.58 brief	
	10/04/2007 Rd	bert T. Jenks	0.42 read	company and ICNU reply brief
Tota	ıl:		6.77	
Bob Issue Work:				
Case Preparation				
	06/15/2007 Rd	bert T. Jenks	2.25 worke	ed on Biglow Canyon testimony;
	06/16/2007 Rd	bert T. Jenks	2.30 worke	ed on testimony and exhibits
	06/18/2007 Rd	bert T. Jenks		ed on testimony
	06/19/2007 Rd	bert T. Jenks	5.28 testin	· · · · · · · · · · · · · · · · · · ·
	06/20/2007 Rd			d testimony
	06/21/2007 Rd		1.30 read	
	07/11/2007 Rd			wed PGE's rebuttal testimony
Tota			15.71	
Bob Issue Work:	•••		10.11	
Settlement				
	05/31/2007 Ro	hert T. Jenks	5.00 settle	ment conf
	06/06/2007 Rd		0.25	ment com
	06/12/2007 Rd			wad sattlament proposal
	06/15/2007 Rd			wed settlement proposal
Tota		bert 1. Jenks	_	w Settlement
Tota	II.		7.25	
Jason Issue Work:				
Briefing & Oral Argument	00/04/0007	0 5: 1 6	0.00	
		son G. Eisdorfer		w testimonies
		son G. Eisdorfer		o lowrey and bob
		son G. Eisdorfer	2.33 writin	-
		son G. Eisdorfer		g edit brief
		son G. Eisdorfer		edits to brief
Tota	ıl:		6.91	
Jason Issue Work:				
Case Preparation				
	06/15/2007 Ja	son G. Eisdorfer	0.50 case	theory with bob and lowrey
	06/19/2007 Ja	son G. Eisdorfer	0.70 revie	w testimony
Tota	ıl:		1.20	
Jason Issue Work:				
Settlement				
	07/11/2007 Ja	son G. Eisdorfer	0.83 revie	w brief, compare with stip
Tota	al:		0.83	

<sup>\*</sup> Highlighting indicates activity billed in this request

		Date	Name	Duration	Notes
Lowrey Issue Work:					
Briefing & Oral Argument					
		09/05/2007 Lov	•		Opening Brief
		09/06/2007 Lov	•		Opening Brief
-	-4-1-	09/07/2007 Lov	wrey R. Brown		Opening Brief
	otal:			6.91	
Lowrey Issue Work: Case Preparation					
Case Freparation		04/03/2007 Lov	wrov B. Brown	1.62	PGE's Filing
		06/15/2007 Lov	•		Testimony
		06/17/2007 Lov	•		Testimony
		06/18/2007 Lov	-		Testimony
		06/19/2007 Lov	-		Testimony
		06/20/2007 Lov	-		Testimony
		06/21/2007 Lov	•		Reading Testimony
		12/05/2007 Lov			Tax Rate Issue
Т	otal:			18.15	
Lowrey Issue Work:					
Discovery					
		04/06/2007 Lov	wrey R. Brown	1.17	Data Requests
		05/10/2007 Lov	wrey R. Brown	0.13	Data Requests
		11/08/2007 Lov	wrey R. Brown	0.30	Data Responses
		11/13/2007 Lov	wrey R. Brown	0.20	Data Responses
Т	otal:			1.80	
Lowrey Issue Work:					
Procedural Matters					
		03/21/2007 Lov	•		Scheduling misc.
		04/03/2007 Lov	-		Intervenor Funding Budget
		07/16/2007 Lov	•		Signature Page
		07/17/2007 Lov	•		Stipulation Signature Page
		07/30/2007 Lov	•		Affidavits
-		07/31/2007 Lov	wrey R. Brown		Affidavit & Motion
	otal:			3.78	
Shannon Issue Work: Case Preparation					
Ouse i reparation		06/20/2007 Sha	annon K Floyd	0.42	proofing reply testimony
т	otal:	00/20/2007 SH	amon K. I loyu	0.42	produing reply teatimothy
Shannon Issue Work:	Jul.			0.72	
Procedural Matters					
		07/27/2007 Sha	annon K. Flovd	1.00	Partial Payment Request.
Т	otal:		,	1.00	,
January through December 200	าย				
January unough December 200	70				
Lowrey Issue Work: Procedural Matters					
		04/01/2008 Lov	wrey R. Brown	1.50	Intervenor Funding Payment Request
	otal:			1.50	
Shannon Issue Work:					
Procedural Matters		04/04/2000 05	annon V. Flavel	0.75	Final navment request
<del>,</del>	otol	04/01/2008 Sha	annon K. Floyd		Final payment request
'	otal:			0.75	